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Cleyy is replacing one of his machines. He can choose between machinc A or machine B.

Details of the machines are as follows: / ' . : he
/
Machine A - Machine B |
Cost $80 000 $100 000
Estimated useful life 4 years 4 years , 1
Scrap value $4000 © $8000 L

Annual depreciation (each machine): straight line.
Estimated receipts and payments are as follows:

Revenue receipts

Machine A Machine B
$000 - $000
Year 1 _ 66 000 - : 70000
2 80000 90000
3 ‘ 100000 100000
4 70000 60000
-~.. Payments
$000 $000 ,
Year 1 31000 42000
2 47000 L 49000
3 68 000 - ' 67 000
4 38000 ' 29000

Clegg Ltd’s cost of capital is 10%.

Discounting rates: 10% 20%

Year 1 0.909 ~0.833 ;

2 ' 0.826 0.694 !

3 0.751 0.579 :

4 ; 0.683 0.482 :

REQUIRED

(a) Calculate the accounting rate of return (ARR) for each machine. R (12

' , . |

(b) Calculate the payback period for each machine. (4] R
(c) Calculate the net present value (NPV) of each machine. ' [11]

The new machine must produce an internal rate of return (IRR) of at least 22%.

'REQUIRED

i

(d) Prepare calculations to show the internal rate of return (IRR) produced by each machine. (4]
(¢) State which machine Clegg should purchase. Give your reasons. B (5] ,

(f) Suggest why Clegg requires the new machine to produce an IRR of at least 22% if it already
produces a positive NPV. (4]
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